

$R$

2010/02/24

2011/03/07

:  $R( )$

(  $R$  )  $R$   
 ( )

$R$   $I_R^3$   $S R$   
 $I_{R \times S}^3 \cong I_R^3 \times I_S^3$   $I_S^3$   
 $R$  :

2010 MSC 18A99, 18B99, 16D25 :

## *Category of Ideals in a Ring R*

**H. Shehada and F. Ismail**

Department of Mathematics, Faculty of Science, Damascus University, Syria.

Received 24/02/2010

Accepted 07/03/2011

### **ABSTRACT**

In this scientific paper we dealt with three different types of homomorphisms between two given ideals in a ring with unity shown as follows: ring homomorphism,  $R$ - module homomorphism and ideal homomorphism, which were supported by several examples.

Furthermore, we prove that the family of ideals in a ring  $R$  with ring,  $R$ -module and ideal homomorphisms forms the category of ideals of the first, second and third type, respectively. The next step was dedicated to support all previous ideals by examples and functor between such categories.

Finally, using the properties of ideals we prove that for two isomorphic rings  $R \cong S$  then  $\underline{I}_R^3$ , the category of ideals in  $R$  of the third type is isomorphic with  $\underline{I}_S^3$ , moreover,  $\underline{I}_{R \times S}^3 \cong \underline{I}_R^3 \times \underline{I}_S^3$ .

**Key words:** Ideal homomorphisms, Category of ideals in a ring  $R$ .

**Mathematical Subjects classification:** 2010 MSC 18A99, 18B99, 16D25

: **.1**  
morphisms

.[[1]p10 – p12]

(3.2 )  
(1.3 )

: **.2**  
 $I_r \quad I_l \quad I \quad R$

$f: A \rightarrow B \quad A, B \in I \quad .1.2$

$R$

- $$\left. \begin{array}{l} 1) f(a_1 + a_2) = f(a_1) + f(a_2) \\ 2) f(a_1 a_2) = f(a_1) f(a_2) \end{array} \right\} (\forall a_1, a_2 \in A)$$

$R \quad 1 \quad f(1) = 1 \quad f \quad A = B = R$   
(2) (1)  $f \quad A, B \in I_l$   
 $A, B \in I_r$



$$R = \mathbb{Z} \quad .5.2$$

$$m\mathbb{Z} \quad n\mathbb{Z} \quad [[6]p24] \quad n \in \mathbb{N} \quad n\mathbb{Z} = \{ \dots, -2n, -n, 0, n, 2n, \dots \}$$

$$f: n\mathbb{Z} \rightarrow m\mathbb{Z}; nx \mapsto mx \quad n \neq 0 \quad m, n \in \mathbb{N}$$

.R

$$2\mathbb{Z}_{12} = \{0, 2, 4, 6, 8, 10\}$$

$$R = \mathbb{Z}_{12} \quad .6.2$$

$$f: 2\mathbb{Z}_{12} \rightarrow 4\mathbb{Z}_{12}; x \mapsto 4x \quad R \quad 4\mathbb{Z}_{12} = \{0, 4, 8\}$$

.R

.7.2

:R .3

R .1.3

( )

:

.R :Objects

)

:arrows

.R (

R)  $1_A$

$A$

(

(

)

( )

:

$$f: A \rightarrow B, g: B \rightarrow C, h: C \rightarrow D$$

: -1

$$(h \circ g) \circ f = h \circ (g \circ f)$$



$$g: B \rightarrow A; \begin{pmatrix} c & 0 \\ d & 0 \end{pmatrix} \mapsto \begin{pmatrix} c-d & c-d \\ d & d \end{pmatrix} \cdot \underline{I}_{1, M_2(K)}^1$$

$$[[1]p19] \quad A \cong B \quad f \circ g = 1_B \quad g \circ f = 1_A \cdot \underline{I}_{1, M_2(K)}^1$$

$$R = \mathbb{Z}[i] = \{a + ib : a, b \in \mathbb{Z}; i^2 = -1\} \quad .4.3$$

$$R \quad A = \{a + ib : a, b \in 2\mathbb{Z}\} \quad [[5]p10] \\ f: A \rightarrow A; a + ib \mapsto a - ib \quad A \in \underline{I}_{\mathbb{Z}[i]}^1 \\ \cdot \underline{I}_{\mathbb{Z}[i]}^1 \quad R$$

$$K \quad R = M_2(K) \quad .5.3$$

$$A = \left\{ \begin{pmatrix} a & b \\ 0 & 0 \end{pmatrix} : a, b \in K \right\}, B = \left\{ \begin{pmatrix} a & b \\ a & b \end{pmatrix} : a, b \in K \right\} \\ A, B \in \underline{I}_{r, M_2(K)}^2 \quad [[4]p6] \quad R \quad B \quad A$$

$$f: A \rightarrow B; \begin{pmatrix} a & b \\ 0 & 0 \end{pmatrix} \mapsto \begin{pmatrix} a & b \\ a & b \end{pmatrix} \cdot \underline{I}_{r, M_2(K)}^2 \\ g: B \rightarrow A; \begin{pmatrix} a & b \\ a & b \end{pmatrix} \mapsto \begin{pmatrix} a & b \\ 0 & 0 \end{pmatrix} \cdot \underline{I}_{r, M_2(K)}^2$$

$$A \cong B \quad f \circ g = 1_B \quad g \circ f = 1_A \cdot \underline{I}_{r, M_2(K)}^2$$

$$R = \mathbb{Z}_6 \quad .6.3$$

$$m\mathbb{Z}_6 \quad R \quad [[6]p4] \text{proper ideals} \\ : \quad \underline{I}_{\mathbb{Z}_6}^3 \quad \cdot \quad 6 \quad m \quad 0 < m < 6$$

6  $m$   $0 < m < 6$   $m\mathbb{Z}_6$  :Objects

$\mathbb{Z}_6$   $0$

R :arrows

$$f : \mathbb{Z}_6 \rightarrow 3\mathbb{Z}_6 ; x \mapsto 3x$$

$$: \underline{I}_{\mathbb{Z}_{20}}^3 \quad R = \mathbb{Z}_{20} \quad .7.3$$

20  $m$   $0 < m < 20$   $m\mathbb{Z}_{20}$  :Objects

$\mathbb{Z}_{20}$   $0$

R :arrows

$$f : 2\mathbb{Z}_{20} \rightarrow 5\mathbb{Z}_{20} ; x \mapsto 5x$$

$$: \underline{I}_{\mathbb{Z}_{30}}^3 \quad R = \mathbb{Z}_{30} \quad .8.3$$

30  $m$   $0 < m < 30$   $m\mathbb{Z}_{30}$  :Objects

$\mathbb{Z}_{30}$   $0$

R :arrows

$$f : 2\mathbb{Z}_{30} \rightarrow 6\mathbb{Z}_{30} ; x \mapsto 6x$$

$$.4$$

$$\underline{I}_R^3 \quad .1.4$$

:

R

A  $[[3]p96]$   $R/A$   $[[2]p120]$   $R[x]$

$\underline{I}_R^3$

R

$\underline{I}_{R/A}^3$   $\underline{I}_{R[x]}^3$

$:\underline{I}_R^3$   $\underline{I}_{R[x]}^3$   $-I$

$\cdot R[x]$   $\cdot A[x]$  R A :

$$\begin{array}{ccc} \underline{I}_R^3 & f: A \rightarrow B & : \\ [[2]p123] f[x]: A[x] \rightarrow B[x] & & \end{array}$$

$$f[x](a_0 + a_1x + \dots + a_nx^n) = (f(a_0) + f(a_1)x + \dots + f(a_n)x^n)$$

$$\begin{array}{ccc} .3.2 & (4) & (3) \\ & & f[x] \\ & & \cdot \underline{I}_{R[x]}^3 \\ & & : \end{array}$$

$$\begin{array}{ccc} -[x]: \underline{I}_R^3 & \longrightarrow & \underline{I}_{R[x]}^3 \\ A & \longmapsto & A[x] \\ f \downarrow & & \downarrow f[x] \\ B & \longmapsto & B[x] \end{array}$$

$$\forall A \in \underline{I}_R^2: -[x](1_A) = 1_{A[x]}: A[x] \rightarrow A[x] \quad [[1]p13] \text{ functor}$$

$$1_{A[x]}(a_0 + \dots + a_nx^n) = 1_A(a_0) + \dots + 1_A(a_n)x^n = a_0 + \dots + a_nx^n$$

$$g: B \rightarrow C \quad f: A \rightarrow B \quad 1_{A[x]} = 1_{A[x]}$$

$$(g \circ f)[x]: A[x] \rightarrow C[x] \quad \underline{I}_R^3$$

$$\begin{aligned} (g \circ f)[x](a_0 + \dots + a_nx^n) &= (g \circ f)(a_0) + \dots + (g \circ f)(a_n)x^n \\ &= g(f(a_0)) + \dots + g(f(a_n))x^n \end{aligned}$$

:

$$g[x] \circ f[x](a_0 + \dots + a_nx^n) = g(f(a_0)) + \dots + g(f(a_n))x^n$$

$$\cdot (g \circ f)[x] = g[x] \circ f[x]$$

$$: R \quad A \quad \underline{I}_R^3 \quad \underline{I}_{R/A}^3 \quad -2$$



$$\begin{array}{ccc}
 \mu : \underline{I}_R^3 & \longrightarrow & \underline{I}_S^3 \\
 A & \longmapsto & f(A) \\
 \alpha \downarrow & & \downarrow \mu(\alpha) = f(\alpha(-)) \\
 B & \longmapsto & f(B)
 \end{array}$$

$$\alpha(a) \in B \quad \mu(\alpha): f(A) \rightarrow f(B); f(a) \mapsto f(\alpha(a)) \\
 \cdot f(\alpha(a)) \in f(B)$$

$$\mu(\alpha) \quad R \quad \alpha$$

$$\forall f(a_1), f(a_2) \in f(A), \forall s \in S : \quad S$$

$$: a_1, a_2 \in A$$

$$\mu(\alpha)(f(a_1) + f(a_2)) = \mu(\alpha)(f(a_1 + a_2)) = f(\alpha(a_1 + a_2))$$

$$= f(\alpha(a_1)) + f(\alpha(a_2)) = \mu(\alpha)(a_1) + \mu(\alpha)(a_2)$$

$$\mu(\alpha)(f(a_1)f(a_2)) = \mu(\alpha)(f(a_1a_2)) = f(\alpha(a_1a_2)) = f(\alpha(a_1)\alpha(a_2))$$

$$= f(\alpha(a_1))f(\alpha(a_2)) = \mu(\alpha)(f(a_1))\mu(\alpha)(f(a_2))$$

$$r \in R \quad s \in S$$

$$f$$

$$s = f(r)$$

$$\mu(\alpha)(sf(a_1)) = \mu(\alpha)(f(r)f(a_1)) = \mu(\alpha)(f(ra_1)) = f(\alpha(ra_1)) = f(r\alpha(a_1))$$

$$= f(r)f(\alpha(a_1)) = sf(\alpha(a_1)) = s\mu(\alpha)(f(a_1))$$

$$\cdot \mu(\alpha)(f(a_1)s) = \mu(\alpha)(f(a_1))s$$

$$A$$

$$1_A: A \rightarrow A$$

$$\mu$$

$$\mu(1_A): f(A) \rightarrow f(A); f(a) \mapsto f(1_A(a)) = f(a) \quad \underline{I}_R^3$$

$$\beta: B \rightarrow C \quad \alpha: A \rightarrow B \quad \cdot \mu(1_A) = 1_{\mu(A)} = 1_{f(A)}$$

$$: \underline{I}_R^3$$

$$\mu(\beta \circ \alpha): f(A) \rightarrow f(C); f(a) \mapsto f((\beta \circ \alpha)(a))$$

⋮

$$\mu(\beta) \circ \mu(\alpha): f(A) \rightarrow f(C); f(a) \mapsto \mu(\beta) \circ \mu(\alpha)(f(a))$$

$$\begin{aligned} \mu(\beta) \circ \mu(\alpha)(f(a)) &= \mu(\beta)(\mu(\alpha)(f(a))) = \mu(\beta)(f(\alpha(a))) \\ &= f(\beta(\alpha(a))) = f((\beta \circ \alpha)(a)) \\ \therefore \mu(\beta \circ \alpha) &= \mu(\beta) \circ \mu(\alpha) \end{aligned}$$

⋮

$$\begin{array}{ccc} \lambda: \underline{I}_S^3 & \longrightarrow & \underline{I}_R^3 \\ A & \longmapsto & f^{-1}(A) \\ \alpha \downarrow & & \downarrow \lambda(\alpha) \\ B & \longmapsto & f^{-1}(B) \end{array}$$

$$\lambda(\alpha): f^{-1}(A) \rightarrow f^{-1}(B); f^{-1}(a) \mapsto f^{-1}(\alpha(a))$$

$$\begin{array}{ccc} \alpha & R & \lambda(\alpha) \\ & \cdot & \lambda \quad S \end{array}$$

⋮

$$\begin{array}{ccccc} \underline{I}_R^3 & \xrightarrow{\mu} & \underline{I}_S^3 & \xrightarrow{\lambda} & \underline{I}_R^3 \\ A & \longmapsto & f(A) & \longmapsto & f^{-1}f(A) = A \\ \alpha \downarrow & & \downarrow f(\alpha(-)) & & \downarrow f^{-1}(f(\alpha(-))) = \alpha \\ B & \longmapsto & f(B) & \longmapsto & f^{-1}f(B) = B \end{array}$$

$$\begin{array}{ccc}
 \cdot \underline{I}_R^3 & & \lambda \circ \mu \cong 1_{\underline{I}_R^3} \\
 & \cdot \underline{I}_R^3 & \\
 \cdot \underline{I}_R^3 \cong \underline{I}_S^3 & & \mu \circ \lambda \cong 1_{\underline{I}_S^3} \\
 A \subset B & R & B \ A \quad .3.4 \\
 & & \cdot \underline{I}_{R/A/B/A}^3 \cong \underline{I}_{R/B}^3 \cong R/A/B/A \cong R/B
 \end{array}$$

[[3]p91].  $R \times S = \{(r, s) : r \in R, s \in S\}$   $S \ R$

$$\begin{array}{ccc}
 R & A_1 \ R \times S & A_1 \times S_1 \quad .4.4 \\
 & & \cdot S \quad S_1 \\
 & R \times S & A_1 \times S_1 \quad :
 \end{array}$$

$$\begin{aligned}
 & \forall (a_1, s_1), (a_2, s_2) \in A_1 \times S_1, \forall (r, s) \in R \times S \\
 & (a_1, s_1) - (a_2, s_2) = (a_1 - a_2, s_1 - s_2) \in A_1 \times S_1 \\
 & (a_1, s_1)(a_2, s_2) = (a_1 a_2, s_1 s_2) \in A_1 \times S_1 \\
 & (r, s)(a_1, s_1) = (ra_1, ss_1) \in A_1 \times S_1 \\
 & (a_1, s_1)(r, s) = (a_1 r, s_1 s) \in A_1 \times S_1
 \end{aligned}$$

$$\begin{array}{ccc}
 \cdot S & S_1 \ R & A_1 \quad A_1 \\
 & & \cdot \underline{I}_{R \times S}^3 \quad S \ R \\
 \cdot S & S_1 \ R & A_1 \quad A_1 \times S_1 \quad : \text{bjects}
 \end{array}$$

$$\begin{array}{ccc}
 f: A_1 \rightarrow A_2 & f \times g: A_1 \times S_1 \rightarrow A_2 \times S_2 & : \text{Arrows} \\
 & g: S_1 \rightarrow S_2 \ R & \\
 & f \times g(a, s) = (f(a), g(s)) & S \\
 & & \cdot (a, s) \in A_1 \times S_1
 \end{array}$$

$$\begin{array}{ccc}
 & f \times g & \\
 A_1 \times S_1 & & R \times S \\
 : & & 1_{A_1 \times S_1} = 1_{A_1} \times 1_{S_1} \\
 : \quad \underline{I}_{R \times S}^3 & & f_2 \times g_2 \quad f_1 \times g_1 \\
 & & f_1 \times g_1 \circ f_2 \times g_2 = f_1 \circ f_2 \times g_1 \circ g_2 \\
 \underline{I}_S^3 \quad \underline{I}_R^3 & & [[1]p36] \\
 & & : \quad \underline{I}_R^3 \times \underline{I}_S^3 \\
 \cdot S_1 \in \underline{I}_S^3 \quad A_1 \in \underline{I}_R^3 \quad \langle A_1, S_1 \rangle & & : \text{Objects} \\
 f: A_1 \rightarrow A_2 \quad \langle f, g \rangle: \langle A_1, S_1 \rangle \rightarrow \langle A_2, S_2 \rangle & & : \text{Arrows} \\
 & & \underline{I}_S^3 \quad g: S_1 \rightarrow S_2 \quad \underline{I}_R^3 \\
 \langle f_2, g_2 \rangle \quad \langle f_1, g_1 \rangle & & 1_{\langle A_1, S_1 \rangle} = (1_{A_1}, 1_{S_1}) \quad \langle A_1, S_1 \rangle \\
 \cdot \langle f_1, g_1 \rangle \circ \langle f_2, g_2 \rangle = \langle f_1 \circ f_2, g_1 \circ g_2 \rangle : & & \\
 \cdot \underline{I}_{R \times S}^3 \cong \underline{I}_R^3 \times \underline{I}_S^3: & & S \quad R \quad .54
 \end{array}$$

$$\begin{array}{ccc}
 \lambda: \underline{I}_{R \times S}^3 & \longrightarrow & \underline{I}_R^3 \times \underline{I}_S^3 \\
 A_1 \times S_1 & \longmapsto & \langle A_1, S_1 \rangle \\
 f \times g \downarrow & & \downarrow \langle f, g \rangle \\
 A_2 \times S_2 & \longmapsto & \langle A_2, S_2 \rangle
 \end{array}$$

$$\begin{aligned}
 \lambda(1_{A_1 \times S_1}) &= \lambda(1_{A_1} \times 1_{S_1}) = \langle 1_{A_1}, 1_{S_1} \rangle = 1_{\langle A_1, S_1 \rangle} \\
 \underline{I}_{R \times S}^3 & \quad \quad \quad f_2 \times g_2 \quad f_1 \times g_1 \\
 \lambda(f_1 \times g_1 \circ f_2 \times g_2) &= \lambda(f_1 \circ f_2 \times g_1 \circ g_2) = \langle f_1 \circ f_2, g_1 \circ g_2 \rangle \\
 &= \langle f_1, g_1 \rangle \circ \langle f_2, g_2 \rangle = \lambda(f_1 \times g_1) \circ \lambda(f_2 \times g_2)
 \end{aligned}$$

$$\begin{array}{ccc}
 & & \lambda \\
 & & \vdots \\
 \mu : \underline{I}_R^3 \times \underline{I}_S^3 & \longrightarrow & \underline{I}_{R \times S}^3 \\
 \langle A_1, S_1 \rangle & \longmapsto & A_1 \times S_1 \\
 \langle f, g \rangle \downarrow & & \downarrow f \times g \\
 \langle A_2, S_2 \rangle & \longmapsto & A_2 \times S_2
 \end{array}$$

$$\mu(1_{\langle A_1, S_1 \rangle}) = \mu(\langle 1_{A_1}, 1_{S_1} \rangle) = 1_{A_1} \times 1_{S_1} = 1_{A_1 \times S_1} :$$

$$\underline{I}_R^3 \times \underline{I}_S^3 \quad \langle f_2, g_2 \rangle \quad \langle f_1, g_1 \rangle$$

$$\begin{aligned} \mu(\langle f_1, g_1 \rangle \circ \langle f_2, g_2 \rangle) &= \mu(\langle f_1 \circ f_2, g_1 \circ g_2 \rangle) = f_1 \circ f_2 \times g_1 \circ g_2 \\ &= f_1 \times g_1 \circ f_2 \times g_2 = \mu(\langle f_1, g_1 \rangle) \circ \mu(\langle f_2, g_2 \rangle) \end{aligned}$$

$$1_{\underline{I}_R^3 \times \underline{I}_S^3} \quad \lambda \circ \mu \cong 1_{\underline{I}_R^3 \times \underline{I}_S^3} \quad \mu$$

$$\mu \circ \lambda \cong 1_{\underline{I}_{R \times S}^3} \quad \cdot \underline{I}_R^3 \times \underline{I}_S^3$$

$$\cdot \underline{I}_{R \times S}^3 \cong \underline{I}_R^3 \times \underline{I}_S^3$$

$$R_1, R_2, \dots, R_n \quad .6.4$$

$$\underline{I}_{R_1 \times R_2 \times \dots \times R_n}^3 \cong \underline{I}_{R_1}^3 \times \underline{I}_{R_2}^3 \times \dots \times \underline{I}_{R_n}^3$$

⋮

## REFERENCES

- [1] Mac Lane, S. (1998). *Categories for the Working Mathematician*. Springer, Verlag, New York, Second Edition.
- [2] Grillet, P. A. (2007). *Abstract Algebra*. Springer science and Business Media, Second Edition, 105-148.
- [3] Mac Lane, S and Birkhoff, G. (1999). *Algebra*. American Mathematical Society. Third Edition 85-124.
- [4] Lam, T. Y. (2003). *Exercises in classical ring theory*. Springer-Verlag, New York, Second Edition.
- [5] Atiyah, M. F and Macdonald, I. G. (1969). *Introduction to commutative Algebra*, Addison-Wesly.
- [6] Northcott, D. G. (1954). *Ideal Theory*. The syndics of the Cambridge University.